
STYKLISTE
Side 1

MODEL HM1304B

Pos. Art.nr. Betegnelse Stk. Note

001 324345-5 WERKZEUGAUFNAHME   1
002 322478-0 BØJLE###(324236-0)   1
003 266010-9 SKRUE M8X30 (HM1300)   6
004 233083-7 TRYKFJEDER 13 (HM1500B/HM1800)   2
005 322560-5 RING (HM1810)   2
006 262098-7 RING 48 (HM1304)   1
007 213388-1 O-RING 24 (HM1304)   1
008 324346-3 DICHTUNGSHALTER   1
009 324166-5 LEDERULLE (HM1304)   1
010 262099-5 GUMMIRING (HM1304)   1
011 324347-1 SCHLAGBOLZEN   1
012 421975-4 DICHTUNGSRING   1
013 213721-7 O-RING 61 HM1800   1
014 324738-6 DICHTUNGSHALTER   1
015 213443-9 X-RING 30 (HM1304)   1
016 262098-7 RING 48 (HM1304)   1
017 267232-4 SKIVE 48 (HM1304)   1
018 317448-2 PLEJLSTANG (HM1304)   1
019 213617-2 O-RING 47 (HM1304)   1
020 317447-4 STEMPEL (HM1304)   1
021 268066-8 STIFT 12   1
022 213572-8 O-RING 44 (HM1304)   1
023 267233-2 SKIVE 55 (HM1304)   1
024 261121-5 NYLONSKIVE 55 (HM1304)   1
025 331600-8 CYLINDER 54 (HM1304)   1
026 213572-8 O-RING 44 (HM1304)   1
027 324102-1 HAMMER (HM1304)   1
028 317444-0 CYLINDER (HM1304)   1
029 941252-3 SKIVE 10   4
030 266276-1 SKRUE M10X40 (HM1304)   4
031 273518-6 SIDEGREB 37 (HM1304)   1
032 252005-8 MØTRIK M8-13 (HM1300)   1
033 266298-1 SKRUE M10x122 (HM1304)   1
034 416228-4 GREBHOLDER   1
035 345279-9 BØJLEGREB (HM1304)   1
036 416228-4 GREBHOLDER   1
037 252633-9 KLEMMEGREB (HM1304)   1
038 253194-2 SKIVE 5   1
039 922221-3 6KANT-SKRUE M5X16   1
040 252005-8 MØTRIK M8-13 (HM1300)   1
041 257196-0 RING 25   1
042 211373-8 KUGLELEJE 6205 LLU   1
043 316730-6 LEJEHUS   1
044 265366-7 SKRUE M6x22 (HM1500)   4
045 254001-2 KILE NR. 4   1
046 324100-5 KRUMTAPAKSEL (HM1304)   1
047 212261-2 NÅLELEJE 1715 (HM1304)   1
048 253196-8 SKIVE 6 (6310)   1
049 922326-9 SKRUE M6X18###(266009-4)   1
050 213720-9 O-RING 67 (HR2400)   1
051 819084-5 LABEL   2
052 213510-0 O-RING 36 (9629S)   1
053 416561-4 GEARHUSDÆKSEL (HR5001C)   1
054 911221-8 SKRUE M5X16   4
055 345278-1 HALTEPLATTE   2
056 262003-4 GUMMIRING 6 (HM1400)   2
057 643700-5 KULDÆKSEL (HM1800)   2
058 191957-7 KULSÆT CB-204   1
059 922227-1 6KANT-SKRUE M5X18   2
060 345319-3 ABSCHLUSSDECKEL   1
061 922371-4 6KANT-SKRUE M6X50 (HM0810)   4



STYKLISTE
Side 2

MODEL HM1304B

Pos. Art.nr. Betegnelse Stk. Note

062 941151-9 SKIVE 6   4
063 153438-9 MOTORHUS KPL. (HM1304)   1
064 317623-0 GETRIEBEGEHAEUSE   1
065 850406-0 TYPENSCHILD HM1304B   1
066 626124-0 FELT 220-240V (HM1304)   1
067 265428-1 SKRUE M5x65   2
068 253794-8 SKIVE 18 (HM1300)   1
069 211087-9 KUGLELEJE   1
070 681635-2 ISOLERINGSSKIVE (GA7000)   1
071 516864-7 ANKER 220-240V (HM1304)   1

INC. 69,70,72,73
072 241870-0 FAN 80   1
073 211228-7 KUGLELEJE 6202DDW###(211238-4)   1
074 418000-0 FELDABDECKUNG   1
075 266310-7 MADENSCHRAUBE M5x6   4
076 317446-6 GETRIEBEGEHAEUSEDECKEL   1
077 211214-8 KUGLELEJE 6302###(211211-4)   1
078 226450-3 TANDHJUL 57   1
079 421780-9 DICHTUNGSRING B   1
080 317445-8 LAGERDECKEL   1
081 256111-1 STIFT 6   1
082 421779-4 DICHTUNGSRING A   1
083 265995-6 BLIKSKRUE 4x18###(266326-2)   3
084 183546-2 GREB KOMPLET (HM1304)   1

INC. 92
085 941152-7 SKIVE 6 (LF1000)   2
086 922371-4 6KANT-SKRUE M6X50 (HM0810)   2
087 256111-1 STIFT 6   1
088 331212-7 TÆTNING (HM1400)   1
089 211104-5 KUGLELEJE 6001   1
090 226449-8 TANDHJUL 34   1
091 211109-5 KUGLELEJE 6201 (HM1300)   1
092 183546-2 GREB KOMPLET (HM1304)   1

INC. 84
093 645105-5 KONDENSATOR###(645185-1)   1
094 685725-3 SKUMGUMMI   1
095 415805-9 LÅSEKNAP (HM1303B)   1
096 417544-7 OMSKIFTER (HM1304)   1
097 415806-7 PLADE (HM1303B)   1
098 651922-3 AFBRYDER 2414B   1
099 421778-6 AFBRYDERHUS (HM1304)   1
100 231457-6 TRYKFJEDER 3 HR2400   1
101 682560-0 BESKYTTELSESKNÆKLED 10   1
102 665883-1 ANSCHLUSSLEITUNG   1
103 687052-4 KABELKLEMMEPLADE (4100NB)   1
104 265995-6 BLIKSKRUE 4x18###(266326-2)   2
105 922361-7 6KANT-SKRUE M6X40   2
106 941152-7 SKIVE 6 (LF1000)   2
107 256219-1 STIFT 4 (HM1500) .   2
108 322477-2 BØJLEHOLDER HM15B/1800   2
109 322550-8 STIFT###(324238-6)   1
110 951272-9 FJEDERSTIFT8-40 (HM1810)   2
A01 183598-3 TRANSPORTKOFFER STAHL   1



EKSPLOSIONSTEGNING
Side 1

MODEL HM1304B


